A A /N /N
MMX300( 200 700),MB2S,MRA2 MMX300( 800 1000) MMX300-HSAC2| MMX300-HSAC2| MMX300-HSAC2| MMX300-HSAC2 MB2S-HSAC2 | MRA2-HSAC2
700 PF 700 800 PF 800
a hl h2 a hl h2 (mm) (mm) (mm) (mm) (mm) (mm)
M16x% 150 25 94 200 M16x 150 25 85 185 min max min max min | max min max min max min max
M16x 200 50 119 | 220 M16x 200 50 110 | 210 660 | 1000 | 695 | 1000 | 585 |1000 | 620 | 1000 | 750 | 1000 | 700 {1000
M16x 150
S 120 ; 120
I ?751 i
' ! 017 o
| e = + |+ =] :+ +
| | N
o = & ‘ < ‘
g ] | ) : g ! :
~ 1 P ] - ]
g | ~i 750 mm b g b
: 3 g | | B Do :I’ o
e gy}
- g £
s —— c
| I
MMX300-HSAC2
AN :200,300,400,500,600,700 /N :800,900,1000
PF ( ) PF ( )
32.7 32.7 120 120
EFE E++ ++J ’,:T g g
o <
| g g [
| | | LL/
‘ -+ + ! )
| g j I
AR i g 1 |
el | \ | re) | h
~ ﬂl ;+‘+: ~ | 750 mm b
+ : : : +l \ ﬂ‘_ H+ +
q |4
ﬁ
b | i
! ‘E"‘E’ | ] q
:H H 1+‘+1 ﬂﬁ] %’E
< - 9 g
o
b= ﬁ ~y b=
—] :
MB2S-HSAC2 MRA2-HSAC2
:300,350,400,500,600 1700,800
MI300 ~)U MBEEZE. 14 MEBR AR —E R =/H/8 =%, =2 % | PUt AN - 4 AR HSACEY (A2
I g - = — o~ N X
e AR MARUYASU KIKAI CO., LTD. NN W B szoU—2Advaup | B8 W_M_LEG_255_4




